Taonuya 10.1. Tabnuya ucxoouvix OanHwix

Ilepemennass | Ha3nauyenue 3HaveHue Hnentupuxarop

Ngp Howmep Opuranst Nop Nb =

N Jmna (ieproj) N =64 N = 64
MOCIIEJOBATEILHOCTH

f, Hactora f, =2000(Ng, mod5+1) Fs =
JMCKPETH3AlUH
AMITIUTY B _ Al =

A JIUCKPETHBIX A =1+0,01N,

A TapMOHHUK A =27 o
YacToTbl IUCKPETHBIX _ £1 =

h rapMOHHK f="t/4

M Ilepuon M =71 M =71
HOCJIEJOBATEILBHOCTH
YacToThl TUCKPETHBIX _ f1 1 =

f TapMOHHK fn =111, -

f21 le =1, 07 f2 f271 =

f1 Yacrotst muckpernbix | f, =1,05f; f1 2 =
TapMOHHUK

f22 f22 = f12 +1’1Afl f272=

fl1 2+1.1*%(Fs/N)
f
rae Af ZWH

Xs(n) Ilepuoauueckas x3(n) =N 6 [0, 1 0,2; 0,3 0,4; ),B}?KTOP
HOCJIE/I0BaTEIbHOCTh %3 = [0.1 0.2
(epnom) 0.3 0.4 0.5]

X, (n) Tlepronuueckast X, (n) = N6p [0,5; 0,4; 0,3; 0,2; PBExTOP
HOCJIE/I0BaTENbHOCTh x4 = [...]
(mepuon)

Xs () Koneunas x5(n) = Ng,[0.1; 0,2; 0,3] BekTop
MOCJIEJOBATEILHOCTh %5 = [...]

Xg () Koneunast %s(n) = Ng,[0,3; 0,2, 0,1, 0,2; 0,Bpxrop
MOCJIEJOBATEILHOCTh %6 = [...]

bo Koaddummentst bo ~0,5+0, 02N6 BekTop
YUCITUTEIS P _ ]
nepesaTouHon —n (—1\Noo+L = [...

by pca by =by(-1) " (0,9822+0,0178Ns,)

b, b, =by[0,8+0,2(Ng, mods5) |

3, Koaddunmentst a, =1 BekTop
3HaMeHaTeIs I

. N =

u b a, = (- (0,7778+0,025N,)

a a, =0, 64+O,006N6p

N, Hmnza UX N; = Ng, mod10+20 N1 = 21

N, Juna Bo3zeicTBus N, = N6p mod10+30 N2 = 31

N, Jnuna Bo3aeicTBUs N; =N 6p mod 10+ 200 N3 = 201




